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A multimarket price discriminator sells its product in Florida for three times the price it sets in New
York. Assuming the firm faces the same constant marginal cost in each market and the price elasticity of
demand in New York is -2.0, the demand in Florida

A) has an elasticity of -6.0.

B} is more price elastic than the demand in New York.

C) has an elasticity of -1.2.

D) has an elasticity of -0.67.

Suppose that each worker must use only one shovel to dig a trench, and shovels are useless by
themselves. In the long run, an incréase in the price of shovels will result in

A} fewer shovels being purchased to produce the same number of trenches.

B) more workers being hired to produce the same number of trenches.

C) the firm wishing to produce more trenches.

D) no change in the firm’s input mix.

When the price of a good changes, the substitution effect can be found by comparing the equilibrium

quantities purchased

A) on the old budget line and the new budget line.

B) on the original indifference curve when faced with the original prices and when faced with the new
prices. |

C) on the new budget line and a hypothetical budget line that is a shift back to the original indifference
curve parallel to the new budget line.

D) on the new indifference curve.

At an output level of 100 a monopolist faces MC=15 and MR=17. At output level g=101 the monopolists
MC=16 and MR=15. To maximize profits the firm

A) should produce 100 units.  B) should produce 101 units,
C) cannot maximize profits. D) is not a monopoly.

If fair insurance is offered to a nisk-averse person, she will
A) buy enough insurance to eliminate al] risk.

B) not buy any insurance because it is overpriced.

C) not buy any insurance since the marginal utility of the amount of the payment is positive.
D) buy enough insurance to cover about half of the possible loss.

Sarah and David both have linear demand curves for lemonade. Sarah’s demand curve for lemonade
intersects David’s demand curve at a price of 50 cents per glass. Sarah’s demand curve is more inelastic
than David’s. A change in the price of lemonade from 50 cents to 25 cents per glass will

A) decrease Sarah’s consumer surplus more than David’s.

B) decrease David’s consumer surplus more than Sarah’s.

C) increase Sarah’s consumer surplus more than David’s,

D) increase David's consumer surplus more than Sarah’s.
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7. A smail business owner earns $5,000 in revenue annually. The explicit annual costs equal $3,000. The
owner could work for someone else and earn $2,500 annually. The owner’s business profit is

and the economic profit is
A) $2,000, $500 B) $2,000, -$500 C) $2,500, -$500 D) $4,500, -$500

8. Clifford lives by the motto “Eat, drink and be merry today, for tomorrow doesn’t matter.” If today’s
consumption is measured on the horizontal axis and tomorrow’s consumption is measured on the vertical
axis, Clifford’s indifference curves
A) are horizontal straight lines.

B} are vertical straight lines,
C) show decreasing utility as one moves upward.
‘D) cannot be determined from the information given.

9. Bob invests $50 in an investment that has a 50% chance of being worth $100 and a 50% chance of being
worth $G. From this information we can conclude that Bob is NOT

A) risk loving B) risk neutral C) risk averse D) rational

10. The demand for a monopoly’s output is p =100—-Q. The firm’s production function is @ =2L.
Which of the following is the firm’s demand for labor?

A) w=200-8L B) w=200-4L C) w=100-L D) w=2L

11. If the inverse demand curve a monopoly faces is p=100—20Q, and MC is constant at 16, then the
deadweight loss from monopoly equals
A) 821 B) $882 C) $441 D) $1,764

12. Which of the following total cost functions suggests the presence of a natural monopoly?
A)TC=2Q - B)TC=100+2Q’
C)TC=100+2Q D) All of the above.

13. A tax on a previously untaxed monopely-produced good will necessarily lower total welfare if
A) the demand curve is relatively inelastic.

B) the demand curve is relatively elastic.
C) less than the socially optimum is produced before the tax.
D) more than the socially optimum is produced before the tax.
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I. Find ii—}i where
ax

c.y= (x—lf 15%
X

2. Graph the function  f{x)=1-(x-2)"". State all the extrema, critical

points, increasing and decreasing, concave up and/or down intervals.  15%

3. Find the following definite and indefinite integrations. 25%

o dx dx Y dx
. J(qul)m o thxmﬁ “ j_{/_?

i
ye‘qudy e. _"xlnxcix

¥i2

A
1 =]

<

4. Determine if the following converge. If yes, please find the limit(s). 15%

® Ix -3x

a SN b imE T o tim e -4
nel 1 TR axX X322

L

Find the Taylor’s 4™ degree polynomial for f(x)y=e" atx=1 with the
remainder. 15%
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MIDTERM Stem-and-Leaf Plot
Frequency Stem & Leaf
3.00 1. €00
3.00 1. 233
3. GG 1. 453
3. 00 1. 68667
7. 00 1. 8888909
7.00 . 2. 00tri1g
2.00 2. 22
Stem width: 10.0%
Each leaf: 1 case(s)
A. Mean:
B. Median:
C. Mode:
b. Standard deviation
E. Range:
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1.Please describe your knowledge and interest of public affairs management.
(50%)

2.The International Program you try to enter requires that you stay and
study in a major university of the US for some period of time. Please make
up a plan for this overseas adventure, include: (50%)

- The purpose of your study

- The language enhancement program

- The courses you possibly would like to take
- How you choose your advisor

- The budget/funding sourses

- Other relevant items

Please provide your answers in English



